8 7 6 5 4 3 2 1

PROPRIETARY AND CONFIDENTIAL REVISIONS

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF
VECTOR ELECTRONICS & TECHNOLOGY, INC. ANY REPRODUCTION IN PART ZONE REV DESCRIPTION DATE APPROVED

OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF VECTOR ELECTRONICS ALL A INITIAL RELEASE 07/22/15
& TECHNOLOGY, INC IS PROHIBITED.

M2.5-0.45X11mm LONG
CAPTIVE SCREW

(PART OF FN 1) EJECTOR HANDLE

A

REV

EL-TYPE-I

D

90100043 PARTS LIST 90100044 PARTS LIST
(FOR 3U FRONT PANEL ASSEMBLY) (FOR 6U OR 9U FRONT PANEL ASSEMBLY) M2 5-0 45X6mm LONG
PAN HEAD SCREW
FIND NO DESCRIPTION PART NO QTY U/M FIND NO DESCRIPTION PART NO QTY U/M (PART OF FN 1) W
1 EJECTOR HANDLE, TYPE | 90100043# 1 EACH 1 EJECTOR HANDLE, TYPE | 90100043# 2 EACH M2.5.0 45X6mm LONG
.0-U, mm
2 SCREW, PAN HEAD, M2.5-0.45X6mm | 88000066 1 EACH 2 SCREW, PAN HEAD, M2.5-0.45X6mm | 88000066 2 EACH PAN HEAD SCREW
3 ASSEMBLY INSTRUCTION SHEET IN406 1 EACH 3 ASSEMBLY INSTRUCTION SHEET IN406 1 EACH
N\
%
CAPTIVE SLEEVE & SCREW
(PART OF FRONT PANEL KIT) e
s
P
prd
2 O
@ wEe o
Q §8§z
s 750 EMC GASKETED FRONT PANEL Q
<0 —ORE< SHOWN 3U X 4HP ¢
T Z =< (NOT PART OF HANDLE KIT) ¢
@) W=
L > SLT2
S < Oaes d o
T w <LZwa EMC GASKETED FRONT PANEL
oA =<a0 SHOWN 6U X 4HP \ PRINTED CIRCUIT BOARD
< z T Zo (NOT PART OF HANDLE KIT) (NOT PART OF HANDLE KIT)
<T 00SO N PRINTED CIRCUIT BOARD d
o o= (NOT PART OF HANDLE KIT)
00 M2.5-0.45X6mm LONG
\ PAN HEAD SCREW C o
(PART OF FN 1)
0.154 —= - ] —0.154 M2.5-0.45X11mm LONG .
' CAPTIVE SCREW ¢
O (PART OF FN 1)
M2.5-0.45X6mm LONG
¢ ;. PAN HEAD SCREW o
C
B S @
0O N
B\
’l\\ﬂ L
/\ EJECTOR HANDLE
)
= ] EXPLODED VIEW
3U PLUG-IN CARD ASSEMBLY
(s
M2.5-0.45X6mm LONG ¢
PAN HEAD SCREW
(PART OF FN 1)
c M2.5-0.45X6mm LONG
M2.5-0.45X11mm LONG PAN HEAD SCREW
—= 0240 =— CAPTIVE SCREW
0.100 N
OPENING FOR—= (=
LABEL AREA FRONT PANEL
—=— ~—0.145) ©0.106 @
FRONT PANEL o L
MOUNTING HOLE
. 0787 (056 M2.5X0.45-6H TAPPED THRU | ‘L/
' FOR PCB MOUNTING 0.394 —= ~
EJECTOR HANDLE
i // / {/ — 0.0215 A
7 T \ A IS I i N e EXPLODED VIEW
' y - 6U OR 9U PLUG-IN CARD ASSEMBLY
(0.59) 4\ o |
(0.90) — @ / 0.662 (0.640) @
|
| |
-~ - -\ 4 v Lt N |
UNLESS OTHERWISE SPECIFIED: NAME DATE 11115 VANOWEN ST,
kl/ | DIVENSIONS ARE ININCHES |~~~ VECTGH NORTH fOLLYWOOD,
_V | 'Il'DoEl(_:ERQyCES. ‘01 S—— ELECTROMNICS & TECHNOLOGY, INC. WWW.vectorelect.com
DEC X.XX +0.03
$0.079 e o e EJECTOR HANDLE,
0.100 —= —— M2.5 CAPTIVE THRD ANGLE PROJECTION QA. TYPE I, 1101_ 1
SCREW HOLE MATERIAL COMMENTS: S7E TDWG NG, ~EV
EJECTOR HANDLE DETAIL EXPLODED VIEW D EL-TYPE-| | A
(HANDLE IS SYMMETRICAL FOR TOP OR BOTTOM INSTALLATION) PANELS 8HP AND WIDER | |
SCALE: 4:1|CAGE CODE : 82893 | SHEET 1 OF 1

8 7 | 6 | 5 ‘? 4 3 2 1




